



 \bigcirc

www.trademaxfx.live >





\$820.51

\$678.0

240.2

697.98

507.74

Al Trading, or Artificial Intelligence Trading, represents a groundbreaking evolution in the world of financial markets. By leveraging advanced algorithms, machine learning models, and vast data processing capabilities, AI trading systems analyze market trends, historical data, and real-time information to make informed and efficient trading decisions.

These systems eliminate human biases and emotions, enabling trades based purely on data-driven insights. Al trading can identify patterns, predict market movements, and execute trades with speed and accuracy far beyond human capabilities. Whether it's in stock markets, forex, commodities, or cryptocurrencies, Al trading is transforming the way individuals and institutions approach investing.

\$316.40 \$284.48 197.22 \$192.1**\$**19**\$1598.5** \$116.63

ABOUT TRADE MAX



MISSION & VISION TRADE MAX

To empower traders and investors worldwide by providing innovative Al-driven trading solutions that maximize efficiency, accuracy, and profitability, while fostering a culture of transparency, trust, and sustainable growth.

To be a global leader in Al trading technology, revolutionizing financial markets with cutting-edge solutions that unlock opportunities, simplify decision-making, and create value for individuals and institutions alike. $\langle \rangle$







WHY CHOOSE TRADE MAX

Advanced AI-Driven Insights

Leverage the power of artificial intelligence to analyze vast amounts of market data, detect patterns, and generate accurate trading signals. Our bot minimizes human error and enhances decision-making in real-time.



24/7 Market Monitoring and Automation

The cryptocurrency market never sleeps, and neither does our bot. It monitors the market round-the-clock, ensuring you never miss profitable opportunities, even while you're offline.

Customizable Strategies

Whether you're a risk-tolerant trader or prefer conservative strategies, our bot is fully customizable to suit your trading preferences and goals. Tailor parameters, choose strategies, and set stop-losses with ease.

Lightning-Fast Execution

In a fast-moving market like crypto, timing is everything. Our AI bot ensures trades are executed instantly to capitalize on price movements before opportunities fade.



TRADE MAX PACKAGES

SILVER PLAN



GOLD PLAN

\$500	\$600	\$700	\$800
\$900	\$1000		

S2000



www.trademaxfx.live 📀





KEY FEATURES



www.trademaxfx.live >





TRADE MAX **TYPES OF INCOME**





www.trademaxfx.live 📀





TRADE MAX **PERSONAL TRADE BONUS**

www.trademaxfx.live 🕟







SILVER PLAN 50\$ TO 499\$ PERSONAL TRADE BOUNS 0.5% DAILY

PACKAGE - \$50 DAILY INCOME 0.5%

0.5 X 22 DAYS = 5.5\$

1YEARS PROFIT - \$66 www.trademaxfx.live



PACKAGE - \$100 DAILY INCOME 0.5%

0.5 X 22 DAYS = \$11



SILVER PLAN 50\$ TO 499\$ PERSONAL TRADE BOUNS 0.5% DAILY

PACKAGE - \$200 DAILY INCOME 0.5%

1 X 22 DAYS = \$22

1 YEARS PROFIT - \$264

1 YEARS PROFIT - \$396

1.5 X 22 = \$33

PACKAGE - \$300 DAILY INCOME 0.5% www.trademaxfx.live 🚺

PACKAGE - \$400 DAILY INCOME 0.5%

2 X 22 DAYS = \$44



GOLD PLAN 500\$ TO 1999\$ PERSONAL TRADE BONUS 0.75% DAILY

PACKAGE - \$500 DAILY INCOME 0.75%

3.75 X 22 DAYS = \$82.5

1 YEARS PROFIT - \$990

1 YEARS PROFIT - \$1188

4.5 X 22 DAYS = \$99

PACKAGE - \$600 DAILY INCOME 0.75% www.trademaxfx.live

PACKAGE - \$700 DAILY INCOME 0.75% 5.25 X 22 DAYS = \$115.5



GOLD PLAN 500\$ TO 1999\$ PERSONAL TRADE BONUS 0.75% DAILY

PACKAGE - \$800 DAILY INCOME 0.75%

PACKAGE - \$900 DAILY INCOME 0.75%

6.75 X 22 DAYS = \$148.5

6 X 22 DAYS= \$132

1 YEARS PROFIT - \$1584

1 YEARS PROFIT - \$1782

www.trademaxfx.live

PACKAGE - \$1000 DAILY INCOME 0.75%

7.5 X 22 DAYS = 165\$



DIAMOND PLAN 2000\$ ABOVE PERSONAL TRADE BONUS 1% DAILY

PACKAGE - \$2000 DAILY INCOME 1%

20 X 22 DAYS = \$440







www.trademaxfx.live 🕟

GROUP TRADE MAX





GET IN TOUCH NOW



www.trademaxfx.live 🕟









TRADE MAX

TERMS & CONDITIONS

- > Minimum Withdrawal Amount is \$10
- > Withdrawal Deduction 10%
- Saturday & Sunday Forex market is closed So There will be no Personal Trade Bonus.
- > Withdrawal Fund will be credited in 24 To 48 hours. First deposit capital lock for 3 month... No deductions for capital withdrawal after 90 days...

www.trademaxfx.live



THANK YOU

www.trademaxfx.live





